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;a} k|Zgsf pQ/ lbg'xf];\ . 

s_ 7Ls pQ/df /]hf lrXg (√) nufpg'xf];\ . 

  Tick (√) the correct answer.         (18×1=18) 
 
 
!= cfwf/e"t PsfO c¿ PsfOdf lge{/ ub}{g eg] tThGo PsfO{ cfwf/e"t PsfOx¿sf] ;+of]hgaf6 ag]sf] x'G5 . 

tn lbOPsf PsfOx¿dWo] s'g cfwf/e"t PsfO xf] < 

 
The fundamental unit is independent of any other units whereas derived unit is formed by 

combination of fundamental units. Which of the following is fundamental unit? 
 

a) h'n (Joule) b) jf6 (Watt) 
 
 

c) PlDko/ (Ampere) d) kf:sn (Pascal) 
 
 
 
 
 
@= ult kl/jt{gsf] b/nfO{ s] elgG5 < What is the rate of change of velocity? 

 
a) lk08 (Mass) b) an (Force) 

 

c) 
 

k|j]u (Acceleration) 
 

d) 
 

j]u (Speed) 
 
 
 
 
#= oGqsf] sfo{df ;dfj]z x'g] nf]8 / Okmf]6{aLrsf] cg'kftnfO{ s] elgG5 < 

 
 

What is it called for the ratio of load to the effort involved in the work of a machine? 
 
 

a) oflGqs kmfObf (Mechanical advantage) 
 
 

b) ult cg'kft (Velocity ratio) 
 
 

c) sfo{Ifdtf (Efficiency) 
 
 

d) nfut sfo{ (Input work) 
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$= t/n kbfy{sf] rfk / To;sf] 3gTjaLr s:tf] ;DaGw 5 < 
 

What is the relationship between liquid pressures with their density? 
 
 

a) t/n kbfy{sf] rfk To;sf] 3gTj;Fu ;dfg'kflts x'G5 . 
 

 
(Liquid pressure is directly proportional to the density of that liquid) 

 
 

b) t/n kbfy{sf] rfk To;sf] 3gTj;Fu Jo'Tqmdfg'kflts x'G5 . 
 

 
(Liquid pressure is inversely proportional to their density) 

 
 

c) t/nsf] rfk / 3gTjsf] aLrdf s'g} ;DaGw 5}g . 
 

 
There is no relation between liquid pressure and density of liquid. 

 
 

d) 3gTj b'O{ u'0ff a9\bf t/nsf] rfk To;sf] ju{n] a9\5 . 
 

 
Liquid pressure increases by their square when density of liquid increases by two times. 

 
 
 
 
 
%= olb Pp6f dflg; %) s]hLsf] lk08 lnP/ #) ldg]6;Dd pleof] eg] p;n] slt sfo{ u¥of] < 

 

 
If a person stood in with 50 kg of mass for 30 minutes, how much work is done by him? 

 
 

a) 150 h'n (joule) b) 1500 h'n (joule) 
 
 

c) 80 h'n (joule) d) 0 h'n (joule) 
 
 
 
 
 
^= of}lussf] ;a}eGbf ;fgf] s0fnfO{ s] elgG5 < 

 
 

What is it called for the smallest particle of a compound? 
 
 

a) k|f]6f]g (Proton) b) k/df0f' (Atom) 
 
 

c) c0f' (Molecule) d) On]S6«f]g (Electron) 
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&= /utdf kfOg] tLg k|sf/sf /Stsf]ifx¿dWo] Kn]6n]6\; Pp6f xf] . Kn]6n]6\;sf] sfo{ s'g xf] < 
 

Among three different types of blood cells one is platelets. What is the function of platelets? 
 
 

a) /ut hDg d2t u5{ h;n] 3fpx¿af6 /ut v]/ hfg tyf ls6f0f' k|j]z ug{ /f]S5 . 
 
 

They help in blood clotting which prevents the loss of blood from wounds and checks 
 

the entry of germs. 
 
 

b) ls6f0f' lj?4 n8\5 / /f]u nfUgaf6 arfpF5 . 
 
 

They fight against the germs and protect from diseases 
 
 

c) clS;hgnfO{ kmf]S;f]af6 z/L/sf sf]ifx¿;Dd k'¥ofpF5 . 
 
 

They transport oxygen from lungs to the body cells. 

d) o'l/ofnfO{ d[uf}nfdf k'¥ofpF5 . 

They transport urea to the kidneys. 
 
 
 
 
 
*= tnsfdWo] s'g hLjdf lkm;g k|lqmofaf6 k|hgg x'G5 < 

 
 

Which of following organisms reproduce by fission process? 
 
 

a) xfO8«f (Hydra) b) lkmTt] h'sf (Tape worm) 
 
 

c) tf/f df5f (Star fish) d) cldjf (Amoeba) 
 
 
 
 
 
(= lbOPsf] lrq s'g h8La'6Lsf] xf] < 

 
 

Which medicinal plant is shown in the figure? 
 
 

a) h6fd;L (Jatamasi) 
 
 

b) lr/fOtf] (Chiraito) 
 
 

c) of;f{u'Daf (Yarshagumba) 
 
 

d) kfFr cf}n] (Panch Aunle) 
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!)= pBf]u / snsf/vfgfaf6 lg:sg] sfa{g8fOcS;fO8 kfgL;Fu k|ltlj|mof x'Fbf s'g cDn aGb5 < 
 
 

Which acid is formed by the reaction of Carbondioxide released from the industries and 

factories with water? 
 

a) sfaf]{lgs cDn (Carbonic acid) b) ;Nˆo'l/s cDn (Sulphuric acid) 
 
 

c) gfOl6«s cDn (Nitric acid) d) km:kmf]l/s cDn (Phosphoric acid) 
 
 
 
 
 
!!= s:tf] k|sf/sf] r6\6fg DofUdf jf nfef lr;f] eO{ aGb5 < 

 
 

Which type of rock is formed by cooling of magma or lava? 
 
 

a) kq] r6\6fg (Sedimentary rock) b) cfUg]o r6\6fg (Igneous rock) 
 
 

c) kl/jlt{t r6\6fg (Metamorphic rock) d) s+Unf]d]/6 (Conglomerate ) 
 
 
 
 
 
!@= sfutLdf tnsfdWo] s'g kbfy{ /x]sf] x'G5 < 

 
 

Which of the following substance is present in the lemon? 
 
 

a) cDn (Acid) b) Iff/ (Base) 
 
 

c) nj0f (Salt) d) lrgL (Sugar) 
 
 
 
 
 
!#= dfgj z/L/sf] tfkqmd gfKg s'g ydf]{ld6/ k|of]u ul/G5 < 

 
 

Which thermometer is used to measure the temperature of human body? 
 
 

a) clwstd–Go"gtd ydf]{ld6/ (Maximum-minimum thermometer) 
 

b) lSnlgsn ydf]{ld6/ (Clinical thermometer) 
 
 

c) k|of]uzfnf ydf]{ld6/ (Laboratory thermometer) 
 
 

d) s'g} klg xf]Og (None of them) 
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2 2 

2 

3 3 

3 

3 

!$= a]lsª ;f]8f -n'uf w'g] ;f]8f_ sf] c0f' ;"q s] xf] < 
 
 

Which of the following is molecular formula of baking soda? 
 
 

a) Na CO b) NaH CO 
 
 

c) NaHCO d) NaOH 
 
 
 
 
 

!%= Vffg] g'gsf] c0f';"q tnsfdWo] s'g ;xL xf] < 
 
 

Which one of the following is the correct formula of common salt? 
 
 

a) Na Cl b) NaCl 2  2 

 
c) Na CO d) NaCl 

 
 
 
 
 

 16.       This question is kept blank.  
 

  

   
 
 
 

 

 
 
!&= df]6/ uf8Ldf ;fO8 P]gfsf] ¿kdf s'g k|sf/sf] P]gf k|of]u ul/G5 < 

 
 

Which types of mirror is used as side mirror in vehicle? 
 
 

a)       sGs]e P]gf (Concave mirror) 

b)       sGe]S; P]gf (Convex mirror) 

c)       ;dtn P]gf (Plane mirror) 

d)       uf]nf] P]gf (Spherical mirror) 
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!*= r'Dassf] r'DasLo If]qdf s'g} kmnfdsf] 6'qmf jf r'DasLo kbfy{nfO{ /fVbf pSt j:t'df r'DasLo u'0f k}bf 

x'gfsf] sf/0f s] xf] < 

 
What is the cause when a piece of iron or magnetic material is placed at a magnetic field of a 

magnet, magnetic properties are created in the material? 
 

a) r'Dassf] cf0fljs l;4fGt (Molecular theory of magnetism) 
 
 

b) r'DasLo pkkfbg (Magnetic induction) 
 
 

c) ljB't\ r'DasLo pkkfbg (Electro-magnetic induction) 
 
 

d) r'DasLo If]qsf] Ifdtf (Magnetic field strength ) 
 
 
 
 
19.       This question is kept blank.  
 
 
 
 
 
 
@)= jfo'd08ndf sfj{g 8fOcS;fO8, w'ns0f, hnjfik, ;Nkm/8fO cS;fO8 tyf cGo UofF;x¿sf] dfqf a9]df s] 

 

c;/ x'G5 < 
 
 

What is the effect of the increment of carbon dioxide, dust, water vapour, sulfur dioxide and 

other gases in the atmosphere? 
 

a) xl/tu[x k|efj a9\g] (Increase in greenhouse effect) 
 
 

b) cf]hf]g tx x|f; x'g] (Depletion of Ozone layer) 
 
 

c) hn k|b"if0f x'g] (Water pollution) 
 
 

d) cfFwL÷x'/L atf; cfpg] (Occurrence of storm) 
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v_ pko'Qm zAb /fvL vfnL 7fpF eg{'xf];\ . 
 
 

Fill in the blanks with suitable words. 

 
 
 
 

(5×1=5) 
 

@!= 
 

ultsf] P;=cfO= PsfO======== xf] . 
 

  

The SI unit of velocity is ....................... 
 

 

@@= 
 

x]df6fO6 =============== wft'sf] wfp xf] . 
 

  

Hematite is ore of ...........................metal. 
 

 

@#= 
 

xl/of] la?jfn] k|sfz ;+Zn]if0f ls|ofdf==============UofF; aflx/ kmfNb5 . 
 

  

Green plant releases …………gas during photosynthesis. 
 

 

@$= 
 

k/df0f'sf] M ;]ndf clwstd =============cf]6f On]S6«f]g c6fpg ;S5 . 
 

  

M shell of atom can accommodate maximum …….... electrons. 
 

 

@%= 
 

tf/fd08nsf] ;ª\Vof =============/x]sf] 5 . 
 

  

The number of constellations is............ 
 

 

 
 
u_ 

 

 
 
k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . 

 
 

Write the answer of each question. 

 
 
 
 
 
 

(5×1=5) 
 

@^= 
 

cNsf]xn / kfgLsf] ld>0faf6 o;sf cjojx¿nfO{ 5'6\ofpg s'g ljlwsf] k|of]u ug'{k5{ < 
 

 
Which method is used to separate the components of the mixture of alcohol and water? 



lj1fg -;]6 B_. 10 

 

@&= g]kfndf kfOg] s'g} @ cf]6f nf]kf]Gd'v :tgwf/Lx¿sf] gfd pNn]v ug'{xf];\ . 
 
 

Mention any two endangered mammals found in Nepal. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

@*= km"nsf] s'g efudf k/fus0fx¿ aGb5g\ < 
 
 

In which part of flower pollen grains are formed? 
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@(= %) ld6/sf] prfOdf em''08\ofOPsf] es'08f]df s'g zlSt /x]sf] x'G5 < 
 
 

What type of energy is stored in a ball hanging at 50 m high? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

#)= /Qm;~rf/ k|0ffnLsf] Ps sfo{ pNn]v ug'{xf];\ . 
 
 

Mention one major function of Circulatory system. 
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3_ k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . Write the answer of each question. (7×2=14) 
 
 
#!= Pp6f sf/ l:y/ cj:yfaf6 rNg ;'? ub{5 . % ;]s]08kl5 sf/sf] ult a9]/ 72km/hr x'g k'Uof] eg] pQm 

sf/sf] k|j]u slt xf]nf < 

A car starts to move from the rest. After 5 seconds its velocity becomes 72 km/hr. What will be 

the acceleration of the car? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

#@= e"Ifo / lgIf]k0f ;fy ;fy} x'gfsf sf/0f s]s] x'g\ < 
 
 

What are the reasons of occurring erosion and deposition side by side? 
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##= olb 40 ld6/ k|lt;]s]08sf] ultdf u'l8/x]sf] a;df a]|s nufOof] eg] 5 ;]s]08df a; /f]lsG5 . a;sf] ultx|f; 
 

slt xf]nf < 
 

If the brake is applied to a bus moving with velocity of 40 m/s, it stops in 5 seconds. What is 

the retardation of the bus? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#$= lzsf/ cf/Ifsf s'g} b'O{ kmfObfx¿ n]Vg'xf];\ . 

 
 

Write any two advantages of hunting reserve. 



lj1fg -;]6 B_. 14  

#%= dfgj d'6'df kfOg] wdgL / lz/f aLrsf b'O{cf]6f leGgtfx¿ pNn]v ug'{xf];\ . 
 
 

Mention two differences between arteries and veins found in human heart. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

#^= e"sDkn] dfq xf]Og dflg; cfkm\g} sf/0fn] Iflt Joxf]5{ . s'g} @ cf]6f tYo;lxt k'li6 ug'{xf];\ . 
 
 

Not only the earthquake that harms human, but people are solely responsible for the damage. 

Justify with two facts. 
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#&= la?jfsf] h/f / kftsf] Pp6f÷Pp6f sfo{ n]Vg'xf];\ . 
 
 

Mention one function of leaf and root of the plants. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
ª_ k|To]s k|Zgsf] pQ/ n]Vg'xf];\ . Write the answer of each question. (2×3=6) 

 
 
#*= hnjfo' kl/jt{gsf] k|efjnfO{ sd ug{sf] nflu s'g} tLg cf]6f ;'emfj lbg'xf];\ . 

 
 

Give any three suggestions to minimize the effect of climate change. 



lj1fg -;]6 B_. 16  

#(= lbOPsf k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer the questions given below.) 
 
 

a. ;]tf /Stsf]ifsf] sfo{ n]Vg'xf];\ . (Write the function of white blood cell) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

b. ;]tf /Stsf]if sxfF aGb5g\ < (Where does White blood cell form?) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

c. /ftf /Stsf]ifsf] sdL x'Fbf x'g] Pp6f ;d:of pNn]v ug'{xf];\ . 
 
 

(Mention a problem when the number of red blood cells lacks in the blood.) 


